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Time: 90 Mins. Max. Marks: 120

VERY IMPORTANT :

A. The question paper consists of  1 parts (Mathematics & Science). Please fill the OMR answer Sheet

accordingly and carefully.

iz'u i= ds ,d Hkkx (Mathematics & Science) gSA OMR mRrj iqfLrdk dks Øekuqlkj o /;kuiwoZd HkjsaA

B. Please ensure that the Question Paper you have received contains All the questions in each Section and

Pages. If you found some mistake like missing questions or pages then contact immediately to the Invigilator.

lqfuf'pr djsa fd iz'u i= esa izR;sd [k.M o ist esa lHkh iz'u gSA ;fn vkidks iz'u i= esa dksbZ =qfV tSls

dksbZ iz'u ;k ist ugha feyrk gS] rks fujh{kd ls lEidZ djsaA

INSTRUCTIONS (funsZ'k)
1. All questions are Single correct type questions. Each of these questions has four choices (A), (B), (C)

and (D) out of which ONLY ONE is correct.

lHkh iz'u ,dy lgh fodYi izdkj ds iz'u gSA izR;sd iz'u ds pkj fodYi (A), (B), (C) rFkk (D) fn;s x;s

gS ftuesa ls dsoy ,d lgh gSA

For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to

the correct answer and zero mark if no bubble are darkened. In all other cases, no negative mark will be

awarded.

izR;sd lgh mrj ds fy, vkidks 4 uEcj feysxs vxj vkius lgh mrj ls lacaf/kr cqycqys dks dkyk fd;k

gS vkSj 'kwU; uEcj feysxs ;fn dksbZ cqycqyk dkyk ugha fd;k gS rFkk xyr mRrj nsUks ij dksbZ _.kkRed

vad ugha gSA

2. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

vkids izR;sd lgh mrj ds fy, mi;qDr cqycqys dks mrj iqfLrdk esa ml iz'u la[;k ds lkeus dkys djsaA

3. Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.

dksjs dkxt] fDyi cksMZ] ykWx rkfydk] LykbM :y] dSydqysVj] dSejk] lsyQksu] istj vkSj fdlh izdkj

ds bysDVªkWfud midj.k ijh{kk d{k esa vuqefr ugha gSA

USEFUL DATA

Atomic weights: Al = 27, Mg = 24, Cu = 63.5, Mn = 55, Cl = 35.5, O = 16, H = 1, P =  31, Ag = 108, N = 14,

Li = 7, I = 127, Cr = 52, K=39, S = 32, Na = 23, C = 12, Br = 80, Fe = 56,  Ca = 40,  Zn = 65.5, Ti = 48,

Ba = 137, U = 238, Co= 59, B =11, F = 19, He = 4, Ne = 20, Ar = 40 , Mo = 96, Ni = 58.5, Sr = 87.5,

Hg = 200.5 , Tl = 204, Pb = 207 [Take : ln 2 = 0.69,  ln 3 = 1.09, e = 1.6 × 10–19, m
e
= 9.1 × 10–31 kg ]

Take  g = 10 m/s2 unless otherwise stated
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SECTION-I
[SINGLE CORRECT CHOICE TYPE]

Q.1 to Q.30 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

Space for rough work

1. How many prime number are there between 0 and 30 :-

0 rFkk 30 ds e/; fdrUkh vHkkT; la[;k;sa gS &

(A) 9 (B) 10 (C) 8 (D) 11

2. Which of the following is not a rational number :-

fuEUk esa ls dkSUklh la[;k ifjes; ugha gS &

(A) 2 (B)  4 (C)  9 (D)  16

3. A cubic polynomial is a polynomial with degree

,d ?kUkh; cgqin esa vf/kdre ?kkr gksrh gS &

(A) 1 (B) 3 (C) 0 (D) 2

4. The point of intersection of X and Y axes is called :

X rFkk Y v{kksa ds izfrPNsn fcUnq dks dgrs gS &

(A) Origin (B) Null point (C) Common point (D) None of these

(A) ewYk fcUnq (B) 'kwU; fcUnq (C) mHk;fUk"B fcUnq (D) buesa ls dksbZ ugha

5. The point (2, 3) is at a distance of _______________ units from x-axis :

x-v{k ls fcUnq (2, 3) dh nwjh gS &

(A) 2 units (B) 5 units (C) 3 units (D) None of these / dksbZ ugha
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6. Two lines are intersecting, if they have :

(A) A common point (B) An uncommon point

(C) Two collinear point (D) None of these

nks js[kk;sa izfrPNsnh gS ;fn muds e/; &

(A) ,d mHk;fUk"V fcUnq gS (B) ,d mHk;fUk"B fcUnq ugha gS

(C) nks lajs[kh; fcUnq gS (D) buesa ls dksbZ ugha

7. For a triangle ABC, the true statement is :

f=kHkqt ABC ds fy,, dkSUklk lR; dFkUk gS &

(A) AC2 = AB2 + BC2 (B) AC = AB + BC

(C) AC > AB + BC (D) AC < AB + BC

8. The area of a right angled triangle is 30 cm2 and the length of its hypotenuse is 13 cm. The length of the

shorter leg is:

;fn ledks.k f=kHkqt dk {ks=kQy 30 cm2 rFkk d.kZ dh YkEckbZ 13 cm gS rks lcls NksVh Hkqtk dh YkEckbZ gksxh &

(A) 4 cm (B) 5 cm (C) 6 cm (D) 7 cm

9. x = 2, y = – 1 is a solution of the line equal to :

fcUnq x = 2, y = – 1 fuEUk esa fdl js[kk ij fLFkr gS &

(A) 2x + 3y = 5 (B) x + y = 5 (C) x + y = 1 (D) x – y = 9
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10. The surface area of a cube of side 27 cm is :

?kUk ftldh Hkqtk 27 cm gS] dk i`"Bh; {ks=kQYk gksxk &

(A) 2916 cm2 (B) 729 cm2 (C) 4374 cm2 (D) 19683 cm2

11.
1

1
1

1
1 1 / 3






 =

(A)  1/3 (B) 11/7 (C) 3 (D) 
1

1
3

12. From the adjoining figure the value of x° is :-

fn;s x;s fp=k esa x° dk ekUk gksxk &

2x°
3x°x°

(A) 15° (B) 60° (C) 30° (D) None of these / dksbZ ugha

13. The point (3, 2) is at a distance of _______________ units from y-axis :

fcUnq (3, 2) dh y-v{k ls nwjh gksxh &

(A) 2 units (B) 3 units (C) 5 units (D) None of these / dksbZ ugha
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14. If 
x5

125
 = 1, then x is equal to :-

;fn 
x5

125
 = 1 gS rks x dk ekUk gksxk &

(A) 5 (B) 2 (C) 0 (D) 3

15. If 
16 n

49 49
  then n =

;fn 
16 n

49 49
  gS rks n =

(A) 4 (B) 7 (C) 16 (D) 28

16. What will be the unit digit of the squares of the number 1234 :

1234 ds oxZ dk bdkbZ vad gksxk &

(A) 2 (B) 4 (C) 6 (D) 8

17. 40% of ? + 180 = 564

40% dk ? + 180 = 564

(A) 860 (B) 950 (C) 850 (D) 960

18. Given that x = 2 is a solution of x3 – 7x + 6 = 0. The other solutions are ....

fn;k x;k gS fd x = 2, x3 – 7x + 6 = 0 dk ,d gYk gS rks vU; gYk gksxsa &

(A) – 1, 3 (B) 1, – 3 (C) 1, – 2 (D) – 1, – 2
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19. Factors of x3 – 3x2 + 3x + 7

x3 – 3x2 + 3x + 7 ds xq.kd gksxsa &

(A) (x + 1) (x2 – 4x + 7) (B) (x – 1) (x2 + 4x + 7)

(C) (x + 1) (x2 + 4x + 7) (D) (x – 1) (x2 – 4x + 7)

20. Find the area of the given figure (All measurements are in cm.)

fn;s x;s fp=k dk {ks=kQYk Kkr dhft;s (lHkh eki lseh- esa fn;s gS)

45

20
20

60

65

80

(A) 3600 cm2 (B) 2800 cm2 (C) 5600 cm2 (D) 4800 cm2

21. Find the perimeter of a rhombus with diagonals 30 cm and 40 cm long.

leprqHkqZt dk ifjeki gksxk ftuds fod.kkZa s a dh YkEckbZ;ka 30 cm rFkk 40 cm gS &

(A) 100 cm (B) 80 cm (C) 110 cm (D) 90 cm

22. Find the value of (3–1 + 4–1 + 5–1)0

(3–1 + 4–1 + 5–1)0 dk ekUk Kkr djks

(A) 1 (B) 3 (C) zero / 'kwU; (D) None of these / buesa ls dksbZ ugha
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23. The longest cell in human body is –

(A) Neuron (B) Muscle fibre (C) Epithelial cell (D) Bone cell

ekUko 'kjhj esa lcls YkEch dksf'kdk gS &

(A) U;wjkWUk (B) ek¡lis'kh rUrq (C) ,fiFksfy;y dksf'kdk (D) vfLFk dksf'kdk

24. Which of the following is not a compound -

(A) Common salt (B) Water (C) Hydrogen (H
2
) (D) Copper sulphate

fuEUk esa ls dkSUklk ;kSfxd ugha gS &

(A) lkekU; Yko.k (B) ty (C) gkbMªkstUk(H
2
) (D) dkWij lYQsV

25. Identify human cells which lack nucleus–

(A) WBC (B) RBC (C) Platelets (D) Nerve cells

fuEUk esa ls dkSUklh ekUko dksf'kdk UkkfHkd jfgr gS &

(A) WBC (B) RBC (C) fcEck.kq (D) raf=kdk dksf'kdk

26. Which of the following is not a mixture -

(A) Soil (B) Air (C) Steam (D) Milk

fuEUk esa ls dkSUklk feJ.k ugha gS &

(A) e`nk (B) gok (C) Hkki (D) nw/k

27. Which of the following are allotropes of carbon?

(A) Coal and charcoal (B) Graphite and diamond

(C) Coke and coaltar (D) All the above

fuEUk esa ls dkSUkls dkcZUk ds vij:i gS &

(A) dks;Ykk rFkk pkjdksYk (B) xzsQkbZV rFkk ghjk

(C) dksd rFkk dksYkrkj (D) mi;ZqDRk lHkh
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28. Which of the following is a noble metal?

(A) Copper (B) Iron (C) Gold (D) Aluminium

fuEUk esa ls dkSUklh mRd`"V /kkrq gS &

(A) rkack (B) Ykksgk (C) lksUkk (D) ,Y;qfefUk;e

29. Which of the following is not a green house gas?

(A) Nitrogen (B) Methane

(C) Sulphur dioxide (D) Hydrogen

fuEUk esa ls dkSulh gfjr x`g xSl ugha gS &

(A) UkkbVªkstUk (B) esFksUk

(C) lYQj Mkb vkWDlkbM (D) gkbMªkstUk

30. What percentage of energy requirement of our country is met by coal?

dks;Yks ds }kjk ns'k dh fdrUks izfr'kr ÅtkZ dh iwfrZ gksrh gS &

(A) 10 (B) 30 (C) 65 (D) 100


